

HW3 Solutions

$$\begin{aligned} \vec{r}''(t) &= (t - \sin t, 2, t^2) \\ r'(t) &= \int r''(t) dt = \left(\frac{1}{2}t^2 + \cos t + C_1, 2t + C_2, \frac{1}{3}t^3 + C_3 \right) \\ r'(0) &= (1, 0, 1) = (1 + C_1, C_2, C_3) \\ r'(t) &= \left(\frac{1}{2}t^2 + \cos t, 2t, \frac{1}{3}t^3 + 1 \right) \\ r(t) &= \int r'(t) dt = \left(\frac{1}{6}t^3 + \sin t + C_4, t^2 + C_5, \frac{1}{12}t^4 + t + C_6 \right) \\ r(0) &= (1, -1, 0) = (C_4, C_5, C_6) \\ \therefore r(t) &= \left(\frac{1}{6}t^3 + \sin t + 1, t^2 - 1, \frac{1}{12}t^4 + t \right) \end{aligned}$$

$$\begin{aligned} r(t) &= (\sin t, \sin(2t), \cos(t)) \\ \lambda. r'(t) &= (\cos t, 2\cos(2t), -\sin t) \\ \mu. r''(t) &= (-\sin t, -4\sin(2t), -\cos t) \\ \nu. \int r(t) dt &= (-\cos t + C_1, -\frac{1}{2}\cos(2t) + C_2, \sin(t) + C_3) \\ \xi. \iint r(t) dt &= (-\sin(t) + C_4 t + C_4, -\frac{1}{4}\cos(2t) + C_5 t + C_5, -\cos(t) + C_6 t + C_6) \end{aligned}$$

$$\begin{aligned} \alpha(t) &= (t + 1, t^2, -t) & \beta(t) &= (\cos t, \sin t, e^{2t} - 1) & \alpha(0) &= \beta(0) = (1, 0, 0) \\ \alpha'(t) &= (1, 2t, -1) & \beta'(t) &= (-\sin t, \cos t, 2e^{2t}) \\ \alpha(0) &= (1, 0, -1) & \beta'(0) &= (0, 1, 2) \end{aligned}$$

$$\vec{n} = \begin{vmatrix} \hat{i} & \hat{j} & \hat{k} \\ 1 & 0 & -1 \\ 0 & 1 & 2 \end{vmatrix} = (1, -2, 1)$$

$$\begin{aligned} X - 2Y + Z &= 0 \\ 1 - 2(0) + 0 &= 0 \\ \therefore X - 2Y + Z &= 1 \end{aligned}$$

$$\begin{aligned} r(t) &= (\sin(\pi t), \cos(\pi t), 10 - t) \\ r'(t) &= (\pi \cos(\pi t), -\pi \sin(\pi t), -1) \\ r(5) &= (0, -1, 5) \\ r'(5) &= (-\pi, 0, -1) \\ L(t) &= (0, -1, 5) + (-\pi, 0, -1)t \\ z = 0 &= 5 - t \\ t &= 5 \\ L(5) &= (-5\pi, -1, 0) \\ \therefore \rho(-5\pi, -1, 0) \end{aligned}$$

$$\begin{aligned} 5. r(t) &= (2t^2, \sqrt{3}t^4, t^6) \\ r'(t) &= (4t, 4\sqrt{3}t^3, 6t^5) \\ L &= \int_0^2 \sqrt{16t^2 + 48t^6 + 36t^{10}} dt = \\ &= \int_0^2 2t \sqrt{4 + 12t^4 + 9t^8} dt = \int_0^2 2t \sqrt{(3t^4 + 2)^2} dt \\ &= \int_0^2 2t(3t^4 + 2) dt = t^6 + 2t^2 \Big|_0^2 = \\ \therefore L &= 72 \end{aligned}$$